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Practice-

Parallel and Perpendicular Lines

Determine whether the graphs of each pair of equations are
parallel, perpendicular, or neither.
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Write an equation in slope-intercept form of the line that is
. parallel to the graph of each equation and passes through the
given point.
10.y =3x + 6 (4,7 1L y=x—4: (-2, 3) 12. y = 3x + 5 (4, —5)
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Write an equation in slope-intercept form of the line that is
perpendicular to the graph of each equation and passes through
the given point. i
18.y = —=6x + 1; @, —1) 17.y =2x — 3; (—5, 3) 18. 4x + Ty = 3; (—4, —7)
“‘-H'-J'(x -2 t~5:~_~!f-,-4’--."- Uae 1= Ty 4
v, 5 J il g ‘
Y= “’7, =575 B3 ==Yax~ YL
(Y= Ysx~-V5 b=-Yax+% [ &
19. 3x — 4y = 2; (6, 0) 20. y = —4x — 2; (4, —4) 21. 6x + by = —8; (—6, 2)
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